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Wednesday, 15" November 2017
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BUSINESS MATHEMATICS (UMOlCBBSO'?)

Total Marks: - 60
Note; Figures to the right indicate marks. :

Q1 ,
(8) Define following terms: - T 04
o 1. Intersection of two sets 2. Subset B

B IfU={x1<x<10;x € N},A={12568),B = [:xisevenx <10,x e N} 05
and € = {1,2,3,5,6,11,12}. Then find BUA,ANC,B — C,AAC and B'.

(c) i) Express the inequality in a Modulus form: —1 <x <7 06
ii) Find power set of set A = {a, b, c}. ' ' R

(a) If A = set of the lefters of the word ‘HUMAN”, B = set of the letters of the word 04
‘WOMAN’ and C = set of the letters of the word ‘MAN’ then
Find A—BandC X C. S

(b) Verify following by Venn Diagram: 05

- 1. AUBNC) =(AUBN(AUC)

L2 ANBUO=ANBUMAND TR

(¢ i) Solve:jx~3|=1 L 06
ii) Express 0.12121212...into quotient form. o o

Q2 S
(a) Explain following terms with example: - ' 04
1. Null Matrix '
2,  Symmetric matrix
b) 14 = [g ;],thcn find 4’ ~54-141 05
(c) Solve the following equations by Inverse of matrix: 06
2x+y=4, 5x+3y=9
Q2 , OR
(@) _[5 2 -4 -2 - VoAt 04
If A [_4 “|ana B [5 ) J, then verify that (4 + BY' = 4’ + B
(b) Soive the following equations by Cramer’s Rule: 05
2x+3y=10,xt+6y=4
(©) 1 2 3 1 3 0 0 1 3 06
IfA=4§3 -1 2|,B=12 3 1jandC=|2 0 3
2 31 3 2 3 1 3 2

Thenfind 1. A+ 2B 2A+B+C 3.A-B + 2C
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Show that the equation of a line havmg X~ 1nte_rc_ep§ a and Y- intercept b is
A + _.. —- 1 : G- . . .
Show that the points(~2,3), (5,8) and ( -9, -2) are collmear

Find the area of triangle having the vertices: .

P(-3, 2),Q(1, —2)and R(5, 6).
e OR

Show that the equation of the Jine passing through (x,,¥,) with slope m is

Y=y = mx-x).

Find the equation of a line having slope —4 and Y ~ intercept is 5

Find the equation of a line whose slope is —5 and which passes through the
intersection of the lines x-4y +18=0and x +y—-12=0.. .

Write working rules for limit,

Evaluate following:

OR

Evaluate : lim (v/n? + n+1 - +/n? +1)

h—>w
Evaluate following:
. i x24+5x+6
T g3 x+3
. Vx+2-43
2. lim v3

a1 x—1

-—X*H**ﬁv-—-
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